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Capital Budgeting and Project Problems

1.
Find the NPV of an investment in the auto parts business with an initial outlay of $7.558 million. The cash inflows will be an annuity of $2.636 million every year for the next 7 years, beginning one year from today. The appropriate discount rate is 12.4%.

2.
RJR Nabisco has the opportunity to invest in a project that will pay back $3.347 million every year for the next 9 years, beginning one year from now. The initial investment required today is $8.311 million. What is the internal rate of return of the project?

3.
Your manager at Roc-Iowa has asked you to estimate the IRR for a new project in the auto parts business. The project requires an initial investment of $7.706 million and has expected cash inflows of $2.259 million for 7 years. What is the IRR?

4.
Your boss at Quicken has estimated the NPV for a proposed project as $0.223 million. The project has expected cash inflows of $2.364 million each year for 5 years. The required return on the project is 14.6%. What is the initial investment for the project?

5.
(Optional - Very Advanced as it required use of tax and depreciation considerations.) Nicole James must estimate the NPV of a replacement decision for United Food. Incremental cost of new machinery will be $9.641 million. The machinery will increase annual revenues by $9.024 million and annual costs by $3.906 million. The company uses a cost of capital of 8.0% and the tax rate is 30.6%. If the new equipment will last 7 years, what is the NPV of the replacement decision? Assume straight line depreciation.
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